


Question Answer Mark | AO Guidance
or (Area within 40+10)/total eg 510/750 ' 5 ,
or 102/150 = 0.68 or ~ % Bl | 3.3 | Must see correct fraction and =g, or 68% or 0.68
[2]
(© 0.136 (3 sf) Bl 1.1 | BC
[1]
— 5915 1183
(d) m=39.4 or 50 °F 30 > Bl | 3.1a | Allow 39.1 <m < 39.7 Ignore method BC
s=10.3 (3 sf) or s =106 (3 sf) Bl 1.1 | Allow 105.5<s*< 108.5 or 10.27< s < 10.42 Ignore method
(Use of denominator n or (n — 1) is OK for full marks)
OR if neither mark scored,
M1 for attempting find frequencies or areas (NOT heights)
or at least five of these seen: 4, 22, 23, 28, 29, 22, 20, 2
or 20, 110, 115, 140, 145, 110, 100, 10
0.150 or 0.151 or 0.152 (3 sf) Allow 0.15 B2 3.4 | cao Correct with unclear or no working; BIB1BIB1
Bl 1.1 | or Bl for 0.145 t0 0.158
NB No retrospective marks if 0.151 seen in table for (e)(1)
[4]
© (O« [ = [ [ % v [ [ w] e No FT
Histogram 0027 0147 0153 0187 0193 0147 0133 0013
N(40, 100) 0023 0136 0150 0191 0191 0150 0136 0023 Bl 11 Bl for mlddle FOW Correct j:O_OOl NB
N(m, s?) 0030 0151 0153 0189 0183 0142 0130 0023 Bl 34 Bl for bottom FOW Correct :|:0'003 NB
[2]
(e) | (i1) | Nina's model better fit for lower values of X Allow “more accurate” or “less accurate” or similar
Nina's model better fit for any ranges < 40 Bl | 3.5a
Nina’s model less good fit for 40-45 (or >60)
Sam's model better fit for higher values
Sam's model better fit for any ranges > 40 B1 | 3.5a | BUT SC: “Both less good fit for >60” alone: B1 only
Sam’s model less good fit for 20-30 (or >60) NOT “Both are fairly good fit” BOBO
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